HBEAHEN  HIT KBS

B—EE X E+HLEENERER)
BANBENMNESLENXHERESE
(B) #fn 64 43 1R & «f 74 347 81H
(BAHZ : D)
% E # B T E (A) w E (B) E & (A)-(B) i &
BF X IBEEA ( 10, 100, 000)|( 9,948, 121)|( 151, 879)
EHERAY— A EHEA ( 46, 950, 000)|( 48, 037, 114)|( A1,087,114)
i ”}E B BEY SITA ( 1, 000)|¢ 1. 349)|( 13, 349)
= F DOOILA ( 305, 000)|( 842, 720)|( A537, 720)
&) BHEFRBHIRAZ (D 57, 356, 000 58, 832, 304 A1, 476, 304
Wz AFEZH ( 30, 280, 000)|( 31,015, 342)|( A735, 342)
&£ HERZH ( 9, 040, 000)|( 10, 169, 765)|( A1,129, 765)
IIEK) % HhFEEETH ( 8, 700, 000)|( 9, 858, 750)|( A1, 158, 750)
b2 FTEFIE XM ( 25, 000)|( 11, 452)|( 13, 548)
BB ME (2) 48, 045, 000 51, 055, 309 A3, 010, 309
HEFRBHESNZTEZROB)=(D-(2) 9, 311, 000 7,776,995 1, 534, 005
K FERYBRE SR A (1) 0 0 0
5 RIFESEASTESEEIH ( 1, 500, 000)|( 1, 500, 000)
g % B S P A S ( 509, 060)|( 4509, 060)
é AR EH SR HE (5) 1, 500, 000 2, 009, 060 A509, 060
* HBRBEHEESNZEF6©)=(0)-(5) A1, 500, 000 A2, 009, 060 509, 060
N Z DMOTEEIIAZ (7) 0 0 0
if: T DL DOTEBHXK HIE (8) 0 0 0
i [ ZoiomEsE SN TER©0)=(D-8) 0 0 0
FHRE M Q0 0 —_— 0
WHIE &I TG EH (11)=(3)+(6) +(9)~(10) 7,811, 000 5, 767,935 2,043, 065
BRI EEFES (12) 20, 348, 000 18, 426, 862 1,921,138
YR IHES TS (11)+(12) 28, 1569, 000 24,194, 797 3,964, 203




